4/2018 (1) (E11) [0S UL RS A

T  S— is used in soda acid fire 1. 1[1@1 US| TR oS 0 PLip e
extinguishers. TR | - B
(A) NaHCO, (8) Na.CO, {A) NaHCD
. : (B) NaCO
(C) NaC (D) NaQH (C) NaCi (D) N:?QH !
2. The Shivalik Mills covar the EiEiREE =47 gl
parnt of Haryana, o * i Lag . i . ‘:E "
(A) North-eastern (B) North-westemn
- ) No (A) T B ~afw;
(C) South-eastern (D) South-westarn (C) Erﬁ."i‘?l -t@ ;D} Wﬁ - ?
3. Find the missjs g term (?) from th i oo A
OrCXD.EVE 7 15 ) KpLa_cpmns L .-gXDéV?F ? IHJ KPLﬂﬁﬁﬁmﬁ
(C) GSH (D) HUG © GsH (g} GTH
4. Adveniure Sports Academy has been 7
established in % ﬁqﬁm T ( mzﬁﬂm
(A) Bi S + 7 M )
Nirrana (B) Hakhigarh ﬁTi" ‘ngl
(C) Morni (D) Mundri {2)} TiTl.fflm (B) TrEiTR
D) W&
3. Which of the followin {
g farm an AP 2 5. Pk
) 19,8 8.9 ry m%@fﬁam%ﬁ SR
803,033, 0.333, .. CTRRAEREETT TR
& A (B) 0.3, 033, 0.333, ..
, 2 T 4 1] -a-_g .
© 3
(D) V5,25, Va5, 56, .. fﬁ“ Ji
(B) 5,20, 45, 80, ..
6.  Findthe missing number (?inthes
ol - Sequence :
155278 1 5 6. mﬁ@mgfs ?,27,8,1,0 9@ wew
A) 9 (B) 18 A 9 (B) 18
(C} &0 (D) 64 (C) 60 : (D) 84
7. Aladder 13 m long, reaches a window of.] 7 : t‘éﬁ?‘ m@r 2 12 3

a I:n.uldin 12 m above the ground. What is" "'I i,m i '*“‘H Lk
%’ta%ca of the foot of: %-,3 laddai' frem:f "'fﬂ‘\i 5 ht TR A 2t R § 7
n1

(B) 125m
a - g @ sem (3 e
( . o Q‘Wm'm | - NPT
o pravalt Hils-ors aise callod a3 mf"%r"e okt T
¥ .mnmanm {B) Gﬂsmﬂf (A mmmmrgm @
(A) o mum t-D__} Hlmnmrd" J! () fhrmﬂ mqﬁgﬂ' ©) E_ L2
©) Mo | 2

L

B
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a. Recently central government has decided

10.

11.

22

13.

14.

In Mahabharata, Haryana is depicted as
(5] 1 PRSI :

1o merge three nationalized banks to farm
india's second largest bank after SBI, which

of the following is not included in the list 7

(A) Dena Bank

(B) Vijaya Bank

(C) Corparation Bank.
(D) Bank of Baroda

Ayodhva Prasad Goyalia introduced
to urdu literature.

(A) Dohe (B) Poem

(C) Sonnet (D) Shayari

If ROAD. is coded as 38, then LIGHT can
be coded as
(A) 54

(C) 56

(B) &6
(D) 68

(B) Patna
(D) Kurukshetra:

(A) E!ahudhanyaka
(C) Hurriyanna

If ‘A' means ‘+', 'B' means -, 'C’ means '»'
and 'D' means '+, then

16A14C6D3B6=
(A} 108
(C) 38

(B) 42
(D) Mone of these

Caonsider the following andchoose the right
one.

(A)

and!
Mizoram -
tkai bum, Naga hilis and Lushajar
ll:)ir hilis, inhabited by numerous tﬂbﬂl
.-'g'r,oups prac'ﬁs_lng Jhum ::_ul!luatiaajl ,

Both {A) and (B) are right

(B)

(C)
(8)}

" i nipur-:
Barak river flows.in Maniput=tups

' Nene-of the above

9.

- 10,

11.

12,

13"

1-‘;_:

- V2R ey
B B 0 W A AR e s
Ferfier o . =1, 300, 3 2 i vy ey
a1 dm = = i e b fafateg 5
i - e g H i iy '
(A) BT
(B) T &
(C) Hiitrem -
(D) 3 i e
ey T i fera T 5 Alee A
L qefEm

w A (B) =
(C) @iz (D) =

afz ROAD %1 2 38 2, 1 LIGHT 51 22 7301
=n-?

(A) 54 (8) 66

(C) s6 (D) 68

TerarEE H, g Fw0q
R

(C) gitar=n (®) FEEA

RICRNE S0 RO s R vl L
D e e R
16A14C6D3BE=

(A) 108 (B) 42

(C) 38 (D) i
Frerfiaftaet o forary s w1 G

(A) =107 e e s it el &

(B) e o, e i ST
W‘%ﬂ%éfﬁﬁ&mﬂ o) i
TR gy s &

(C) (4 ix (y 7t sl 2

(D) T i@
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>, The famous, ‘The Jungie Book', the sio i, ik :
X j ' ; ry 15. m GRS UG e 2
associated with Kanha Tiger Reserve o I, 2T % P aH

Mad.hya Pradesh and later an animaféd gt ;ﬂﬁzg_—g}?ﬁ ﬂ%ﬁgﬁjﬁiﬁg
movie was macde in 2016 for which it won

Oscar Award, was written by o L — ]
(A) Vikram Seth - (A) T

(B) Aravind Adiga , (B) 3tfe sifem

(C) Rudyard Kipling (C) TEUTS fedieH

(D) Jumpa Lahiri : - (@) gar s

16.  Two coins are tossed simultaneously. The

o1 | 16. 2 oo v wry ore T € | 3% OF U
probability of getting exactly one tail is

. T 37 1 TRyeRan &
(A) 1 (B) 0 (A) 1 (B)
© 2 o % © % o %
17. Four cubes of side 2 cm are Joined end 17. 2 @l YETETS T T S U g E WS
to end. The surface area of the resulting nud | afrht 3 = e A 8
solid is 2 0 ; M
- } | B) 36cm
(A) 70cm? (8) 36cm? he cma (D} 24 Cm'z
(©) 720m (0), 24 cn’ L (0 L. —— = =19
18. A wooden instrument with tied up strings |  18. mﬁmﬂ.mm, R AT aa-:zﬁ'ﬁréqm
played by using a bow is called as: i it FErad @ ww S %
% Bk FEETE &
Chimt
£ Fnma Fopni (A) Foran (B) A
(C) Damru (D} Saarangi (C) Tww (D) =iy
19. Which of the following Harappan Valley | 19 zuy aw zysii § Frafifiag 3 & 2m-m
sites is the oldest one in Haryana ? B e 7
(A) Bhirrana (B) Rakhigam (A frgan (8) T
20. Solution of the equation 20, FHEW x? - (JE + 1) x+2 =0 m e 8
4 = { are
,(Jiﬂjx vz (A) 1, 32 41
(A) 1, V2 +1 B) ¥2, 241
(C) *«'r2—| 1 (D) -1, J2 +1
(D) -1, J—Q— +1
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il _ - ¢
I A R | 1. st AR
21. Every year World Water Day 1S '
‘ Srrar & |
celebrated on e ity
(A) March22%  (B) April 22" (A) 22 ’
(C) May 22™ (D) January 22" (C) 22 s (D) 22 T
22, Which of the follewing commission [ plan 29 feafafaa i @ foner amﬁ’r / Fiai A e _T]
recommended a three-tier confederation. | e 3 dnr SumETa & Fi-wl a1
of sub-continent during freedom H@rﬁ{ & 7.
movement ? ol :
(A) Wavell Plan A 'f"_aﬁ’ s
(B) Cripp's Mission P Gl [N I-..'E.EJ- fore firer
(C) Cabinet Mission (C) - Ffa2 e
(D) August Offer (D) I WA
23. Which of the following explanations is true | 23. A H H T =sTEe & e A a3
about local self-government in India ? T %1 Ht s a7
(A) In Panchayath elections, elecironic {A) wETEm g=rruﬁ # wndt ot ﬁi’f’ﬁ?{?ﬁ?

voting machines are nat used in all HATH i = :,-g?ﬂmmr
the States: :

(B) \Lord Riponis called as the fatherof | it 8 T T
local self-govermment in India
(C) Bath (A) and (B) are correct {C) (A) afl‘tT By = wi
(D) Naone of the above () T 8= ad
24. Pots are mada by using 29, I3 1 SR Eon A R
(A) Machine (B) Plastic (8) it (B) =
(C) Glass {D) Wheel (C) =g (D) fin
25. The earliestreference of the word ‘Ha ana' | 26, gﬂ-q-m =
AT 13 i m[:" ‘%ﬁ T ureftrem el __F
(A) Chahamana {B) Rig Veda m {A] ' ;s T-I*I'ﬂ‘
(C) Atharva Veda (D) Bramhapurana-| {icij % {{g: b
26. The image lormed Dby a concave mirror- CI
Is observed to ba virtual, erect.and farger-| dm &ﬂl AT =efoy iy 1 U Irf?lﬁ‘-ll wnn‘:#r
g}?bc;tg:act Where should be the position- £l lﬂ‘fg ﬂ‘agr B S | G R T
i LRI T
A) Betw {ocal
(A) : !.?rv ;:323 acal length and centre of (A) e wiams S T g Bl
(B) At center of curvature (8) =mn Fzar
{C) Bevond center of curvalure (C) -nxa W

172 Betwaanpole and principal focus (D). i it e iz K #T

== i .
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27,

28.

29.

30.

31.

cﬁnsic_ler the tollowing statements in
to cultivation of wheat.
1) Wheat needs very high rainfall ang
very high temperature.

2) In India, wheat is generally grown in
winter season.

relation

Which of the above statement/s is /a
correct ?

(A) None
(C) Both 1 and 2

fe

(B) 2 only

(D) 1only

The dance in which Gopis form a circle
around Krishna is called as

(A) Bharathanatyam (B) Rasleela
(C) Marathi (D) Bihu

The equations 2x + 4y = 8 and 8x + ay=32
represent the same straight line if a =

(A) 2 (B) 16

€) 9 (D) None of these
The products produced in aerobic respiration
bothin human and plant cells-are.

1) €O,

2) Water
3) ATP

-Choose the right code from given below :
(A) 1and2only

(8) 1only

(C) All the above

(D) None of the above

Whict one of the following is 135 about
auxin?’

(A gynthesised at the shoot tip I

(B) Helps the cellsto grdyu longer

(t diffuses towards the shady side whe,

(© light is coming from one side

(o) i inhlbits growth

27.

28.

-

%
Downloaded from www.cclchapter.com

30.

(TEREEO R EIETAn A
T il M % e i Frerfiafiam i w
fersm ¢ |
1) N e el et v i 3= o
) s et 2 |
2) W ¥ A it g 6
SR | .
Tkt H W A T A A R

(A) e e (B) w2
(©) 1ei2smi (D) W 1
a7 eu o mftet gon & =i o gw
2l E, FEATE € |
(A) WHTI (B) uEehar
(C) Wit (D) Frg
2% + 4y = 8 4 8 + ay = 32 FfiF! WA
it T wr A g a =
(A) 2 (B) 16
€ 9 (D) 3 & F
AT SR EEE A e s
1) €o,
2) w
3) ATP
Frafefiaa 1 4w 52 gf
(A) Faw 1 3iT 2
(B) ¥aw 1
(C) 3w wht
(D) 3faw 4 & wid e

L:Iﬁﬁl mﬁﬁﬁq-m ST B A i
R ? :

(A) &+ 3fid o ahveifive den &
(8) R %) €8 waz w2

(C) 1 G S & wawrer s 2, At @ @
N 3T Reafia s

(D) u=ghe =i T
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32, Bhiwani Canal has been drawn out of

33.

34!

35,

36.

37,

(A) Bhakra canal
(B) Okla barrage
(C) Yamuna
(D) Ganga

Which of the following 'sia;_BMénts is nottrue
regarding distribution’ of power between
Centre and States in India ?

(A) Residuary powers are conferred on '

the Union Government.
(B} The scheme of distribution of powers
in the legislative, administrative and
financial fields are provided under the
Seventh Schedule of the Constitution
(C) Both {A) and (B) are correct
(D) None of the above

Find the word which is different from the
other 3 options given below.

(A) Teacher (B) Doctor

(C) Enginger (D) Housewite -
The age of Mira's mother is 4 limes the
aqe of Mira. § years later, her mother's ag¢-

will be 3 times that of Mira's age. Find the
present age of her mother.

(A) 35years (B) 25years
(C) 40 years (D) 45 years
Brahma Sarovar is located in
district of Haryana.

{A) Thanesar

(B) Fohtak ,
(C) Ambala
(D) Faridabad

it {<1) Is a'zero of polynominl
p(x) = 37 = 7% + 10K, han value of k is
(A 1 B -1

32.

33.

34,

35.

36,

“37.

figrftmer Aty
(A) A TR
(B) e A

(Cy I
(D) T
el 1 & A~ 4 T 57
mﬁsiﬁa-ﬂ%’ﬁ#ﬁz‘dﬁ%ﬁWJqﬁa
(A arafive it %7 FET A Fifea ® |
(B) Faurh, woa it forefrg s ru
el 2 Szt A1 A WEAA F
mzﬁ_.ﬂga@?-%s'aiaﬁﬂa’inﬁ |
(©) (A) 3l (B) 21 HET &
(D) T H & =S T

Tw e T A A P T 35 ff e
afEe

(A) - Rege (8) Ffeeaw

(©) Fife © el

i i sTief =6y 3 W 1 T H 4 TR |
5381 i Ty e ) 2R il 311'-3_!‘@ 3
B | el wre ) AaaE g e
(A) 35 (B) 25
2 (D) 45
,’l’-ﬁﬂl’ﬂﬁ‘:_g st o wmr T
e
A grigr

(B) iremps;

(C) “sithrly

AR el iy = 0 — 7304 10T QI
R kmaam et

(A) 1 (8} =1

(c) = {n o
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g (1 (E‘I'”
4/201 (1) i of Harshavardhana,

3s.

39.

40.

41.

42.

43.

44,

g deal
after th e s i
_’_‘_F.-_-—-‘J fal
(A) Mughals (B) British
(C) pratiharas (D) Cholag

the following IS Not an exa
nisms that breakdown th";plg
| outside the body and e

which of
{or the orga
i‘uod mateﬂa

absorb it 7
(A) Bread moulds  (B) VYeag

(C) Mushroom (D) Cuscuta \ Y

Ambala is famous for

(A) Watermelon (B) Mango
(C) Jack fruil (D) Apple
Which of the following is a mechanical

wave ?
(A) Gamma ray

(C) X-ray

Which of the following is incor

reference 10 Gandhiji and his asso

with various bodies 2 | "
(i) Hewasa member in Cripp's
" Gommission.

(B) Sound wave
(D) Radio waves

rect with
ciation

TV AR R

a8, s ) YRy A a3
el W wiwa g
(A) e (@) Ffeur
(C) wiien (D) A

9. Fre=fafan 1 2w - v ol o e ang

40.

{iy He was a member in Central

V7 Legislative Council.

(i) Hewasa member in Constituent
Assembly.

Select the right one :

(A) (i)only (B) (i) and (ii) only

(C) Allthe above (D) (iii) only

1+ COSA

1
A 27 B) 22

242 |
(C) TJS_ (D} 2 +2_ 3

If x* + 4x + 4 is divided by x + 2, the
‘ _ i |
remainder is ke

(A) -2 (B) 2

(C) 0 (D) None of thege

-8+

qrd =1 e s {5l i F
AT sfie =i S i 2

() FEwED (B) W=

(C) e (D) ST
ST ¥ fmufag g |
(A) T (B) W
(C) =2Ed (D) @

41, Tt § 4 Sn-w v AEE A e

(A) e TR (B) =
(C) TEE-Tam (o)

42, TR s s i T S e

& FRa & - S A
() o e i & g e |
(i) e Hei o o FOHE G Y |
iy A R e R e
e |
(A) @ () (8) Fae (i) ()
o wmwh O €@

(A T2
©) 9
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15, The real foundation of the Sultanate
dynasty was laid by
(A) Babur
(B) Ghori
(C) Qutb-ud-din-aibak
(D) Akbar

46. Four resistors 2Q, 4Q, 60 and 8% are
connected in parallel. It is connected to &
battery of 24V, Find the current through B0

resistor.
(A) 4A (B) 25A
(C) 144A (D) 10A

47. |f 18" March falls on Wednesday, then 17
March was on
(A) Tuesday (B) Sunday
(Cy Saturday (D) Monday

48. The Gram F‘_angha;yath..works for

____years.

e o
© 5 (D) 4

49. HUDA means

(A) Human Development Authority

(B) Haryana Urban Development
Authority

(C) Haryana Urban Destroy Authority
(D) Human Rights Authority

50. The radil of two circles are 12 cm and_l,

4 cm respectively. The radius of the circle’ |

which has circumference equal 10 B.le'i»ﬂj
thle-.clrcumté}"ﬁnce of the two clrcles |G

(A) Bcm
(B) 16¢cm
(C) 6cm

45.

46.

47.

48.

49.

ME50:

(D) Mone of these

412013

: 1
Heaaa A1 ) AT W) (&)
1 | ' W
(A) T
(B)
(C) TGN F
(D) A
an ufmue 20, 40, 62 & 80 mrE

i g2 ¥ |3 0 24V F FAAEE 160
(A) 4A (B) 25A

(C) 144A (D) 10A

F: 18 1 =) AT &, 4 1 7= i
. Em |

(A) TTETER (B) eram~

() W (D) FHAR

T E |

(A 7 B 6
{C) 5 (D) 4
HUDA = 1¢f &

() e 2demie A
(B) feron s e A il
(©) s v R SR
(D) T g S
2 ¥ oy fyend FE 12

£ rera e 2T

s ape 4 T
*"’“ﬁrmmﬁ'
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Canslder the following smiemm\‘l’s: related
o ta fransier of British capital from foolkatia to

Delhi. ,
1) Architecture styie is a amalgamation
of Mughul, Buddhist and Greece

culture.
The decision was taken in 1911,

when King George V was crowned in
England, @ Durbar was held in Delhi
to celebrate the occasion,

3) Lord Harding was the viceroy at that

time.
4) Two architects, Edward Lutyens and

Herbert Baker, were called on to
design New Delhi and its buildings.

5) It took 20 years to complete the
structures.
Whiich of the above are true ?
(A) All the above
(8 1,3,4and 5
{C) 1,3and 4
(D) 1,2,3and 4

52. Haryana has districts as on
2017-18. e
Ay 22 (B) 23
(C) 24 (D) 25

53. The Tashkent Agreement was signed
between India and
(A) China
(B) Pakistan
(C) Bangladesh
(D’} None of the above

54. Find the number which is not like the other’

3 numbers.
(A) 239 (B) 628
Sy 325 (D) 459

INCETYERNRm y

Farfemr Tstaeh =63 rermia @ feeh

b1.
TATTARE 95 2 T8 3 Bt
o1 = =t | R
1) ARG Nl YR, g ity s
s bRl o
- W s f g
2) TRt 1911 8 fire v, s iy
IStV 261 76T 3 rrsive 8, frec
8 ST 5 3 b v
3) I &ifdn 3w wy wigmig @
4) < aregER, Tead wfe s g
o it 7 Reeeht sih 39 samee
TN A i R R |
§) WA 1 U 7 3 20 76 @
I A HA-m T 7
(8) 3 wft
(B) 1,3,435
(C) 1,394
(D) 1,2,3304
52. EIENH 2017-18 7 fort |
) 22 (8 23
© 2 B
53, @ T
Feanei g |
(A) A
(B) T |
O AR
i
©) 325 (D) 459
-10-
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English Language

Fill up the blanks with appropriate conjunction-

It rained _____ three days withoul

stopping.
(A) while
(B) for
(C) during
(D) since

69.

70. ______he works hard.

He will pass ____
(A) as
(B) and
(C) if

(D) while

Choose the correct option.

71. The woman was carrying a
(A) bl_ack small plastic

(B) small and black plastic
(C) small black plastic

(D) plastic small black

72, The more eleciricity you use

(A} your bil will be higher

(B) vl 6 higher your bil

(C) the higher your hm mll be
(D) the higher your bil mlghf be

Fill in the blanks with app ropuate preposilinm |

s

73, They walked gk : _the. mputh
until they came to & small E-ﬁdgq,
AA) alaﬂn
{8) in
(C) acroas

(0)  through

-

412013 (1)
74. The truck came lowards tham

the bridge.
(A) by
(B) above
(C) through
(D) across

(B4

Choose the correct meanings of the idioms
given below.

75. By dint of.

(A) Slowly and g{adu_ally

(B) By means of

(C) Without s’teady appr_'i'aauqn |
(D) By any means

Fair field and no favour.

(A) Upright
-{B}'»-"-Withbutatﬁékery

(C) Equalcenditions in contest
(D) Honesty

76.

Choose the correct form of the verbs.

Dereck for

T ———— e ——

77.  Next month |
20 years.
(%) know
(B}wm have known
(C) am knowing
(D) will have been knowing

78, E\'ﬁl“jlhing Is going well- We

any prublanm so far.
(A) dlﬂnt vy
(B) don't have
() nmlrnrn'l hatl
() haeln't had

18,
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RNV

ikl g4, UTEl rER AR agEee B R
e’ o T T T T R 7 (A) feed (B) ATl
( ,?.)]q?f:f (13) % (C) ?ﬂ?-ﬂﬁ‘ '.m'f—m
(c) TIE (D) =iy 85.  TENT ¥ = it || wjaret o1 25 2
i PO S (A Ffrm 2
(A ﬁm;ﬁ (B) e wily (C) Feili @ WP Il
(C) T EY _(p,} =1 By (D) TR
“grERR TEeh T wed | WA wew | gs, wpifew A
AT i R () (am)
() TTerEITSFR T, Yfewim, sgeed, 1, A, 19
iR, ‘WEd 2. wiig- Al 74
(B) aﬁmw,gﬁmﬁaﬂ,'w 3, HH- B 89
R, ‘Te R 4, dewt ~$.g7
(©) ftrarers: &, gfew, agaem, () 1-§ 2-303-H 4-%
FAHICF, mﬁﬁqmm-—vﬁ 4B) 1-3 2-¥ 3-% 4-3
ST W, G, e ) 1-31 2-3 3-¥ 4-3
D g = y i | s,
v FHER :;‘ﬁ:m%m& ®) 1= 2-% 3-§ 4=
badb e el e o v e e
82, T T Al e FA T | e o ;ﬂ;‘a"-. WSTB‘T}H;‘*
faflaa | s
(A) T T AT HA | y =k (D)
' 5 - 88, Fr=feifad & & we el s = A |
@ i ww # w g
(A) ﬁuﬁ’m (B)
(C) T A 7T i AT A | i o) Fet
T T T 2
() TEH o . ﬁﬁ qﬁmmwwqﬁa
83. WMﬁ ) - G fv’ﬁ"
(A) e @vE W NEH B | R T
(B) o re SR EEIT g Syt i
() 2t TS W B 33“*'? o
(D) aﬁwwawmwﬁw ~w;.m | _.‘B} ﬂ;ﬁ
o AR E | ©) = (D)
_-_h‘\vﬂf
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